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201645 124 580.0 132.7 79.5 225.7 58.7 191.2 150.4 257.2 38.1 80.9 62.7 10.1 40.9 53.2 27.0 387.7 193.5 635.8
et A k] (+4] [A8] +7] [(Aa2] (A7) [+5] (+13] (+15] (+20] [Aa4] (A1) [+79] (+10] [+30] (+26] (+10] [+8] [+14]
[GIGEREPENED) (A6) (A9) (A6) +2) (A7) (A9) +8) +6) +37) +3) Ge2D) +12) +11) (+15) (A7) +5) (G2 +6)
20154 1—3H# 1,768.1 350.8 230.7 650.2 154.0 654.7 398.8 612.3 102.6 245.1 199.5 24.6 103.0 112.1 72.0 1,081.2 520.7 1,616.7
[ R L B P *2) (A15) GD (A3) (A10) +10) GD +8) (A9 +3) 6) (A31) (A3 (A9) G (A12) +19) (A6)
20154 4—6H &k 1,602.6 348.1 187.5 533.0 156.7 602.9 363.6 644.9 105.1 211.2 155.1 17.4 116.3 123.7 76.3 930.9 470.2 1,558.3
(O = S 1= I B = D)) (+6) (A6) +6) G7) &+3) (A3) +16) (+20) (A7) +20) (+44) (A22) (A11) (A8) G (A6) G11) +20)
201545 1—6J gt 3,370.7 698.9 418.2 1,183.2 310.7 1,257.5 762.4 1,257.3 207.7 456.3 354.6 42.0 219.4 235.8 148.3 2,012.1 990.9 3,175.1
(= S 1= I B = D)) G4 (A11) G (C2D) (A1) G G11) G14) (A13) G10) (+20) (A28) (A8) (A8) (C25) (A9 +15) 5)
20154F 7—9HA & 1,729.3 359.4 235.8 648.5 190.5 589.8 409.4 631.0 109.7 227.2 179.2 26.2 110.4 132.3 61.0 1,019.0 533.8 1,635.2
(= S = I B = D) (+6) (A10) +18) +8) G11) 1) (+16) &9) (A8) G &9 &+3) (A10) &+5) &0) (Cro) +19) 28)
20154 10—12H & 1,784.7 415.2 247.7 677.1 173.4 565.3 405.3 661.5 99.9 249.5 192.9 22.9 110.2 128.4 84.3 1,030.1 499.5 1,602.9
(= S = I B = D) (G D) +9) +9) (+13) +10) (Aa14) +12) +12) (A5) (A2) (A5) (A18) (A1) +12) +26) (A6) (C2D) (A2)
20154 7—12H&k 3,514.0 774.7 483.5 1,325.6 363.9 1,155.1 814.8 1,292.5 209.5 476.7 372.1 49.1 220.5 260.7 145.3 2,049.1 1,033.3 3,238.1
C At 4= [F ) ke ) *+3) (A1) +13) G11) G11) (A7) +14) G11) (A6) [C2D) [C2D) (AB) (A6) &+8) +14) (A0 *+9) G11)
20154 1—12Hak 6,884.7 1,473.6 901.7 2,508.8 674.6 2,412.6 1,577.2 2,549.8 417.3 933.0 726.6 91.1 439.9 496.5 293.6 4,061.2 2,024.2 6,413.2
( il A =5 ) 4) (A6) +10) +6) &+3) (A2) +13) +12) (A10) &+5) 9) (A18) (A7) (A0) +9) (A5 *+12) ¢8)
20164 1 A 600.9 141.0 84.° 223.9 60.1 207.2 147.7 245.0 41.0 76.8 58.4 9.5 41.3 52.0 378.9 193.9
2 J] 537.3 121.9 69.2 212.8 60.6 163.4 142.9 213.5 33.1 80.5 61.4 8.5 29.1 35.1 351.6 159.1
34 526.6 122.4 55.4 210.8 49.8 128.9 127.6 217.9 34.0 77.6 60.3 2.5 23.6 14.0 20.5 343.2 181.5
201645 1—3A% 1,664.8 385.3 209.1 647.5 170.5 499.5 418.2 676.4 108.2 235.0 180.2 20.5 94.0 101.0 69.4 1,073.7 534.4
[ R S (=1 I, B = D) (A6) (+10) (A9) (A0) G11) (A24) (+5) +10) (+5) (A1) (A10) (A7) (A9) (A10) (A1) (A0) (+3)
4 )] 530.3 125.0 58.5 218.3 52.1 140.4 125.5 228.1 39.9 79.7 63.7 4.5 36.5 30.9 22.6 320.2 175.0
5 5 506.3 127.2 65.5 189.1 51.3 179.5 125.8 189.6 35.7 64.7 43.3 7.8 37.9 42.2 27.7 312.0 154.9
6 5 446.2 110.1 57.9 133.0 53.7 155.3 109.7 168.1 25.2 44.8 18.3 7.2 39.7 44.4 23.4 286.6 139.8
20164 4—6H 7 1,482.7 362.3 181.8 540.4 157.1 475.2 361.0 585.8 100.9 189.2 125.3 19.4 114.1 117.5 73.6 918.8 469.7
(G TR S (= s B = D) (AT +4) (A3) D GO (a21) (A1) (A9) (A1) (A10) (A19) G11) g (A5) g (A1) (A0)
201645 1—6H &t 3,147.6 747.6 391.0 1,187.9 327.6 974.7 779.2 1,262.2 209.1 424.1 305.5 39.8 218.5 1,992.5 1,004.1
(G = (S S 1= I Y = D) (AT [Co) (AT “+0) *+5) (A22) +2) ¢0) 1) (A7) (A14) (A5) (A7) (A1) [C2D)
7 )] 199.2 137.4 64.4 170.8 61.3 162.0 127.9 219.7 37.9 65.6 39.7 9.5 38.4 332.3 154.8
8 A 505.0 I 72.0 233.4 51.3 155.3 145.0 244.0 39.0 68.0 53.8 10.2 42.0 350.5 162.8
oA 470.3 106.3 74.0 211.6 60.5 117.7 135.3 185.3 34.5 67.8 51.1 4.1 42.4 21.1 320.7 144.9
20164 7—9H & 1,474.5 370.2 210. 615.8 173.1 435.1 408.2 649.0 111.4 201.4 144.6 23.8 122.8 61.6 1,003.5 162.5
= T i (= ) N = <D ) (A15) “+3) (A1) (A5) (A9) (A26) (A0) +3) +2) (Aa11) (A19) (A9 (AT 1) (A 2) (A13)
10 H 519.4 112.8 71.7 214.7 65.2 164.0 145.2 195.3 27.4 77.1 55.4 7.9 29.9 18.2 328.2 145.7
11 4 557.8 143.9 74.5 229.3 63.0 182.9 133.5 224.4 31.9 83.9 63.2 5.7 40.7 21.3 352.8 179.9
12 4 580.0 132.7 79.5 225.7 58.7 191.2 150.4 257.2 38.1 80.9 62.7 10.1 53.2 27.0 387.7 193.5
20164 10—12J# 1,657.2 389.3 225.7 669.7 186.9 538.1 429.1 676.9 97.3 241.9 181.3 23.7 123.8 66.4 1,068.7 519.1
LG T S 1= N 1 I = D) (A7) (A6) (A9) (A1) G8) (A5) 6) +2) (A3) (A3) (A6) G3) (A1) (a21) G4 +4)
20164 7—12H i 3,131.7 759.5 436.2 1,285.5 360.0 973.2 837.3 1,325.9 208.7 443.3 325.8 47.5 246.6 128.1 2,072.2 981.6
LG T S 1= N . I = D) (A1) (A2) (A10) (A3) (A1) (A16) +3) G3) (A0) (A7) (A12) (A3) (A5) (A12) G (A5)
20164 1—12 H il 6,279.3 1,507.1 827.2 2,473.4 687.6 1,947.9 1,616.5 2,588.1 417.8 867.4 631.3 87.3 465.1 271.1 4,064.6 1,985.7
( Hil A =5 ) (A9 &+2) (A8) (A1) +2) (A19) (G22)! G2) 0) (A7) (A6) (A8) 0) (A2)
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PN DY i B 8 B A PE A 255D 9,278,321 804,299 807,247 658,602 840,990 781,253 840,330 Ea—— 2.1 1.6 2 0.6 - 0.1 1.6
s — — ] +6.1 +6.3 +6.1 + 6.1 6.2
AT R EE (%) A5 Al A 4 +9 +1 A 4 +7 e 2.4 a O.7 +O0.7 a 1.9
[ NS A= - 1.2 +1.3 +0.6 +0.0 +1.5
HANEPERHER (T LB —R t) 1,057,570 88,466 91,442 75,112 91,774 93,934 88,732 ] L e [ L T A= Gk 00 FE L ] L 7 1k i A B
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A4 1351 H( %) A6 A5 A2 A2 +2 1 Al PMIBLEEBEE U EFIER
20164
R R EN A PE A M) 14,992,703 1,156,224 1,075,109 1,112,331 1,298,567 1,165,290 1,243,450 e ) 10 11 12
PES] 52.6 51.9 53.2 54.7
B4R R B (%) +4 A 8 A 13 +1 A 8 A 10 +1 = —— 2 [ 53.5 53.7 54.9
[EEIES 51.2 51.7 51.4
Aot A= pE 2 () 959,683 74,640 76,427 80,778 75,286 68,169 73,409 Ea=TS 54.4 52.3 19.6
= 51.4 51.3 51.9
£ 0, 5 - a3 ™ PMIc N 7 == . —r-—— 2 [E i Markit
AITAE [ HE (%) A2 A5 A2 A3 A9 A6 Al R SR A e A 2 o !
o — o .
(R T G750 909,299 85,953 85,208 82,242 85,622 87,239 85,051 Bk . EPE]G)I?‘[//EJ#E
AT [F 3 L (%) +2 A2 +9 +2 +10 +13 +7 o 2018t ~ - et m
P He [H] =T L2 02,724 R 2,34 08,822 22,166 09,196 40,13
PSR SEAE(LOfE ) 460,143 36,403 37,011 35,521 36,681 36,631 37,432 A e | 10e A T A e e e el
S — - - - - o » 5,043 5,087 s P 5,355 4,980 5,283
RITAE A (%) A2 A6 A5 A 3 A 5 A5 A0 oo +2.5 +10.7 +3.1 9.7 +2.4 a8
- T e s ’. b \ 4,471 4,223 17,146 4,852 4,345 4,171 1,466 1,453
NI T EH S EREHER (L0 ) 14,926 1,447 1,271 1,367 2,153 1,163 917 rEcE 1.5 1.2 +1.6 +10.1 +7.4 Ac7 | a63 | a0
S — - » 1,729 1,785 6,885 1,665 1,483 1,475 519 558
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